
Instruction Sheet

Part 1038565B� 2003 Nordson Corporation

P/N 1038565B

Econo-Coat�

25-lb Powder Feed Hopper

NOTE:  This hopper is an option for the Econo-Coat mobile powder spray
system, part 1027691.

See Figure 1.

Item Part Description Quantity Note
— 1036144 HOPPER, 25-lb, one piece, assembled 1
1 240674 � TAG, ground 2
2 - - - - - - � NUT, hex, M5, brass 4
3 - - - - - - � WASHER, flat, M5, brass 4
4 - - - - - - � SCREW, machine, hex head, M5 x 20, brass 2
5 - - - - - - � WASHER, lock, helical spring, M5, zinc 6
6 1008079 � FITTING, pipe, PVC, 11/4-in. male adapter 1
7 1008080 � GASKET, vent stack 1
8 1008081 � NUT, 11/4 in., vent stack 1
9 142342 � PLUG, button 1
10 900618 � TUBING, polyurethane, 8-mm OD, blue 2.33 ft
11 - - - - - - � HOPPER, one piece, with lid and clamp ring 1
12 - - - - - - � � CLAMP RING, one-piece hopper,

Econo-Coat
1

13 1034332 � � LID, one-piece hopper, Econo-Coat 1
14 - - - - - - � WASHER, neoprene, 0.615 x 1.313 x 0.093 in. 1
15 1005067 � UNION, female, bulkhead, 8-mm tube x

1/4-in. RPT
1

16 972125 � CONNECTOR, male, elbow, 10-mm tube x
1/4-in. RPT

1 A

16 972277 � CONNECTOR, male, elbow, 8-mm tube x
1/4-in. RPT

1 A

17 1036146 � TUBE, pickup, assembly,
25-lb one-piece hopper

1

18 941185 � � O-RING, silicone, conductive, 0.875 x
1.062 in.

2

19 1008076 � GASKET, pump mount adapter 1
20 1008077 � NUT, M27 x 1.5 in. 1
21 1027644 � FLUIDIZER, one-piece hopper 1
22 - - - - - - � CLAMP, battery, 73 long, 19-mm max opening,

zinc-plated steel
2

23 - - - - - - � WIRE, vinyl, 14 AWG, green with yellow,
1-meter long

2

24 - - - - - - � TERMINAL, ring tongue, insulated, 16/14, 10 4
NS 1008082 � HOSE, flexible, 3 meter 1
NS - - - - - - � CLAMP, hose, worm gear, 14-mm band 1

NOTE A: These two male elbow connectors are shipped loose.  Select the elbow that matches the size of the
fluidizing air tubing, then install it into the bulkhead union (item 15).

NS: Not Shown



Econo-Coat 25-lb Powder Feed Hopper2

Part 1038565B � 2003 Nordson Corporation

1400883B

61

9

GROUND
DETAIL

5

4

2
2

5 5

33

7
8

15

14

17

19

20

18

11

10

21

22
23
24

22

23
24

12
13

16

Figure 1 Econo-Coat 25-lb Powder Feed Hopper Replacement Parts

Issued 10/03

Original copyright date 2003.  Econo-Coat, Nordson, and the Nordson logo are registered trademarks of Nordson Corporation.


	Econo-Coat 25-lb Powder Feed Hopper
	Replacement Parts


